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SA I OoNer
o LolXe =&
gelr LoISX B8 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 123,900
307 gl2tol & 177,000 162,750 24,250
=S 53,100
Al 123,900
11 ARRIS XA E X 177,000 162,750 24,250
OUZ4EH AtS 177,000
< 53,100
Al 123,900
L2 AY 2HH| XY (THIEX) 343,200 97,500 245,700
= 102,924
Al 240,276
307 el2tol & 343,200 97,500 245,700
= 102,924
Al 240,276
11 AMISXAIEEX 343,200 97,500 245,700
ORsZd2AG 23| X2 (0I™MHE) 343,200
== 102,924
Al 240,276
SIZAY 28 X2 (RHH) 455,000 385,000 70,000
307 glztol & 445,000 370,000 75,000
11 AMEISXAEEE 445,000 370,000 75,000
OR2Z2AE 2| X2 (RHHHA) 375,000
OMIIZA QL AAHHE AL 70,000
402 2I2FX=01 & 10,000 15,000 /5,000
01 QI XHE AL E R (KM TH) 10,000 15,000 25,000
OfRzdZAd Jlsed 10,000
-FERI2AE JIsEd
2,000,000 594 2 10,000
Atgteletel =81 X3 9,000 10,000 21,000
307 elztol & 9,000 10,000 A1,000
04 CIZHHAMAMH 2 & 9,000 10,000 21,000
OLIE0tS Bt0te &HXI A 4,500
OXNSHEY & AAZSAHE 4,500
dzg 249 N& 3,128,076 2,779,149 348,927
= 679,497
= 310,090
Al 2,138,489
J2g oty & &30 X (SHIEX) 1,358,994 1,168,467 190,527
= 679,497
= 203,850
Al 475,647
307 elztol & 1,336,444 1,148,3%2 188,062
= 668,222
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10 Al SXAEEHE2EHI2x 1,336,444 1,148,392 188,062
OZ=z¢g gt X& 1,004,550
= 502,275
< 150,683
Al 361,592
OZ=z¢g 4l X& 117,300
= 58,650
== 17,595
Al 41,055
OZ=z¢ =4l N& 214,594
= 107,297
== 32,189
Al 75,108
308 XtXIEMSO0IE 22,550 20,075 2,475
= 11,275
== 3,383
Al 7,892
11 S 2SS & AET AL 22,550 20,075 2,475
A2 A=yl N (HHHES)
5,500 *4, 1002 22,550
= 11,275
s 3,383
Al 7,892
424 2g XNA(ZHIExX) 1,128,000 1,064,080 63,920
S 90,240
Al 1,037,760
307 212to1d 1,128,000 1,064,080 63,920
= 90,240
Al 1,037,760
10 MEISXAIEHE 22X 1,128,000 1,064,080 63,920
OZzd 244l N3 473,760
= 47,376
Al 426,384
OwQIII=RIAIL B43 L IS5 X
& 203,040
< 20,304
Al 182,736
OZ2Y 2284 X& 451,200
= 22,560
Al 428,640
224 2% X (MHHMA) 345,850 331,370 14,480
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201 er23 | 24,130 24,130
2 52484l 24,130 24,130
oZzg 28 N 24,130
307 el2to| & 321,720 307,240 14,480
10 Al SXAZEHE 22X 321,720 307,240 14,480
OZ2Y 24| XIS (RHM)
520,000 *5647H A 293,280
OZ2% 224l X (RHM) 15,000
ons=sgd=zg A& 13,440
ded 243 A 215,232 215,232 0
307 elztol & 215,232 215,232
1 AMEISXAIEEXS 215,232 215,232
OZ=¢g gdat At 215,232
2 ey A 80,000 0 80,000
== 16,000
Al 64,000
402 2I2E X201 & 80,000 0 80,000
[ 16,000
Al 64,000
02 QIZEXHZ2 AL E X (01X THE) 80,000 0 80,000
O=g &« =8| Ul 22 duted| X 80,000
= 16,000
Al 64,000
LolEE & OHRS0IAY 4,973,866 4,735,971 237,8%
= 3,124,133
= 443,827
Al 1,405,906
COIESSAEIA ALY 4,309,000 4,120,463 188,537
= 3,016,300
[ 387,810
Al 904,890
307 glztol & 4,309,000 4,120,463 188,537
= 3,016,300
== 387,810
Al 904,890
11 AMRISXAEEES 4,309,000 4,120,463 188,537
OIXESSAEIA AL 4,309,000
= 3,016,300
= 387,810
Al 904,890
Lo ESSAHIA AR (IR ) 442,200 428,200 14,000
307 212+01& 442,200 428,200 14,000
11 AMEISXAEEES 442,200 428,200 14,000
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= 53,917
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= 107,833
< 53,917
Al 53,916
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OSAHEQ - Z0i2 SSHEAAEIA AL
of 215,666
= 107,833
[ 53,917
Al 53,916
Col Aoty X2 175,501,994 157,935,089 17,566,905
= 119,304,994
[ 12,400,569
Al 43,796,431
=3 M= 167,272,871 139,758,399 17,514,472
= 110,091,010
s 9,436,372
Al 37,745,489
301 22N = 157,272,871 139,758,399 17,514,472
= 110,091,010
= 9,436,372
Al 37,745,489
01 Al EE A S (FRNEXA) 157,272,871 139,758,399 17,514,472
(OPJESUE=INI=| 167,272,871
= 110,091,010
= 9,436,372
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S5l =0l B! (St ®2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,500
=S 450
Al 1,050
307 212+01& 16,034,123 14,524,120 1,510,003
= 8,583,984
S 2,575,1%
Al 4,874,943
11 AMISXAIEEX 16,034,123 14,524,120 1,510,003
22t E LI ALY 15,063,959
= 8,008,902
= 2,429,671
Al 4,535,386
ORIZt & Lol Xe/AlY HEgels 12| 970, 164
= 485,082
= 145,525
Al 339,557
LoFges XA (THIEX) 935,000 2,150,170 A1,215,170
== 200,000
Al 735,000
307 212+01& 935,000 1,998,370 1,063,370
< 200,000
Al 735,000
10 Al2ISTIAIEEE 22X 935,000 863,500 71,500
OZaofi=oled eI HE XN2HH 24 260,000
= 65,000
Al 195,000
doAlLIGZE =29 345,000
=S 69,000
Al 276,000
ZolILOFAILIOIZ2E 29 330,000
< 66,000
Al 264,000
COIAE 29 11,069,464 10,119,061 950,403
== 1,755,485
Al 9,313,979
LOISTAE &5 2,808,235 2,811,920 A3,685
COISXAIE &S (XHATHE) 616,000 810,920 A194,920
401 A2 HIRL 201 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OMEL=X2 HOIESE AXXO WA 30,000
402 QI”F X201 & 586,000 810,920 A224,920
01 QI X2 AL E A (KEHITHE) 586,000 810,920 N224,920
Ogdzg ¢I=| 300,000,000 *19H 2 300,000
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oelr LOSIAE &5 EER=E)
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Os=ss3z¢ W= 50,000
OLQNN=SIANEL(BRYE S) HES
6,000,000 +25J 2 150,000
OO0HT d2E HE= 10,000
Ostatits B2¢ M2+ 5,000
O3glts B=2¢ M2+ 5,000
OSR2s 324 e+ 10,000
Ouletits 24 HE* 16,000
O¥R1S 32< HE= 40,000
ANAEX] =4 2,192,235 715,000 1,477,235
401 Al HIZL 201 2,192,235 715,000 1,477,235
01 Al&H| 2,192,235 715,000 1,477,235
OXMSEA 24 2,192,235
LOI=SXIAIE 2el 8,261,229 7,307,141 954,088
= 1,755,485
Al 6,505,744
COISXAIE SAHA K& 616,200 629,200 213,000
s 184,860
Al 431,340
306 E= 143,000 137,800 5,200
< 42,900
Al 100,100
01 9= 143,000 137,800 5,200
OZHAIASE =2 SALAF =&
2,600,000& «19¥ 49,400
= 14,820
Al 34,580
OSRUSESEA2 SAL =&
2,600,0002 19 49,400
== 14,820
Al 34,580
ONBRoISSSA2t SAIL =&
2,600,000& 17 44,200
= 13,260
Al 30,940
307 gl2to| & 473,200 491,400 /18,200
=S 141,960
Al 331,240
10 Al SXAEEE 22X 473,200 491,400 /18,200
OLQIZXIAIE SAX = (M HA)
2,600,000& ~182& 473,200
< 141,960
Al 331,240
CRISTIAE ABISXIAL Xt RIS (XHTH) 19,440 0 19,440




SA I OoNer
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307 lztol & 19,440 19,440
10 Al SXAIEEHE 22X 19,440 19,440
OLQSXAIE A2ASXIA AHH =g
30,0002 *54& 1200 & 19,440
el e=sIAE 2Y 3,030,943 3,458,616 N427 673
=S 515,260
Al 2,515,683
301 EtE NS 2,958,331 3,346,176 A387,845
< 502,916
Al 2,455,415
03 AR 2E A5 S(XILHE) 2,958,331 3,344,016 A385,685
Colole=SXAE SH UE=s 2,958,331
= 502,916
Al 2,455,415
307 elzto| & 72,612 112,440 N39,828
= 12,344
Al 60,268
10 AlRISXAZEHE 22X 72,612 112,440 A\39,828
OLdAd S3AL d48 N 72,612
== 12,344
Al 60,268
ML= XAIE 29 4,564,005 3,187,790 1,376,215
= 1,055,365
Al 3,508,640
301 EtE NS 4,554,405 3,179,790 1,374,615
= 1,064,405
Al 3,500,000
03 A2 E A0S (XILTHH) 4,554,405 3,179,790 1,374,615
OMIIt=RISXIAIE SH KE= 4,554,405
= 1,064,405
Al 3,500,000
307 212+01& 9,600 8,000 1,600
== 960
Al 8,640
10 AlRISTIAIEEE 22X 9,600 8,000 1,600
OFU2s4h SN K& 9,600
= 960
Al 8,640
ded odEd N3 30,641 31,635 N8
201 er=23y| 30,641 31,53 ABA
01 AtR2t2|HI 30,641 31,535 A8HA
OZ2¢ &It Ea
67,4303 *3500H 2 23,601
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SN COIFOfOI D
M ZORE SN
s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 16,944,713
=S 2,178,606
Al 4,100,000
ZOHUIESKIE IHHESH 169,481 97,784 71,697
= 118,637
= 15,253
Al 35,591
308 AtAIEHMSOIE 169,481 97,784 71,697
= 118,637
= 15,253
Al 35,591
11 S| 2S04 ASAIE 169,481 97,784 71,697
OZasX& JHtatat 169,481
= 118,637
= 15,253
Al 35,591
A =ROIXIZ 2,296,268 2,049,865 246,403
S 772,468
Al 1,523,800
307 @I2t01 & 34,000 32,000 2,000
== 10,200
Al 23,800
11 AMRISXAEEES 34,000 32,000 2,000
OZOHAEROIXF(RIMEIA L JA0elu
EHl) 34,000
= 10,200
Al 23,800
308 AtXIEMSOIE 2,262,268 2,017,865 244,403
= 762,268
Al 1,500,000
11 S| 2S0UeZB XA AIE 2,262,268 2,017,865 244,403
OZMAE=ROIXIE (SHIA 2,262,268
== 762,268
Al 1,500,000
ZOHQIESXIZ (AFIHAIY) 4,233,880 4,354,322 A120,442
308 XtXIEMSO0IE 4,233,880 4,304,322 A120,442
11 SIS0t 4 A AS A 4,233,880 4,354,322 N120,442
OZ M ESX& FIHAJAAY A 2| 7,000
OZOHASSKIH S0 X2 (AIFIHAIY) 4,226,880
ZoHe! NMEEXJ(EHIExX) 686,328 637,491 48,837
== 113,764
Al 572,564
301 22N = 10,328 6,45 3,872
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SN COIFOfOI D
M ZORE SN
chel: Fojol =XISA (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,750
301 EtE NS 8,750 7,750 1,000
= 7,000
Al 1,750
01 Al E2E AL S(FRDEXMA) 8,750 7,750 1,000
ORI W& 8,750
= 7,000
Al 1,750
HEZ0H SLHISXIA 12,000 12,000 0
= 8,400
< 1,080
Al 2,520
301 2P EN= 12,000 12,000 0
= 8,400
=S 1,080
Al 2,520
01 Al 2E AL S(FRDEXM) 12,000 12,000 0
OoigEofel EatdISXI 12,000
= 8,400
= 1,080
Al 2,520
Ol LXiel HE 1,669,529 1,461,939 207,590
= 815,432
= 263,962
Al 530,135
ZOHQI L Kt At (M) 876,578 782,026 94,552
= 438,289
= 131,487
Al 306,802
101 @124H| 876,578 782,026 94,552
= 438,289
< 131,487
Al 306,802
M ORIMZZ2NSE S 876,578 782,026 94,552
OF OISt (H L) 876,578
= 438,289
< 131,487
Al 306,802
ZHOHQI Kt A (AIZEHI) 220,699 183,856 36,843
= 110,349
== 33,105
Al 77,245
101 e124d| 220,699 183,856 36,843




SA I OoNel
M mojoINe SA
Rl ZoHe! Xl BE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 110,349
=S 33,105
Al 77,245
04 JIZtNZ2Z2XNSE+ 220,699 183,856 36,843
OZ LKt AF (AIZEA) 220,699
= 110,349
= 33,105
Al 77,245
ZOHQI L Kt (SXIL X2l) 463,662 409,476 54,186
= 231,831
= 69,549
Al 162,282
101 @12A4H| 367,065 340,761 26,304
= 183,532
= 55,060
Al 128,473
MU IIRIMZZENSES 367,065 340,761 26,304
OZHILXI2IAI N (FHHE) 367,065
= 183,532
< 55,060
Al 128,473
307 elztol & 96,597 68,715 27,882
= 48,299
< 14,489
Al 33,809
11 AMEISXAEEE 96,597 68,715 27,882
OZMALRIAL (S+=UF-SX AHE) 96,597
= 48,299
== 14,489
Al 33,809
o LTS (SatE L Rt2l) 69,926 49,911 20,015
= 34,963
== 10,489
Al 24,474
307 212+01& 69,926 49,911 20,015
= 34,963
= 10,489
Al 24,474
11 AMISXAIEEX 69,926 49,911 20,015
LETQ LYESAF 22X 69,926
= 34,963
= 10,489
Al 24,474




SA: LoIE0H et
M mojoINe SA
Rl ZoHe! Xl BE EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ZONI L K2l A (= XERIALE) 38,664 36,670 1,9%
& 19,332
Al 19,332
101 2124 d| 38,664 36,670 1,994
& 19,332
Al 19,332
M IIZINZ2 2 NS Es 38,664 36,670 1,9%
OXOHILXIZIAFE (= REHIAFRE) 38,664
T 19,332
Al 19,332
ZOHC! M et XI& 14,120,779 13,874,166 246,613
= 9,801,564
T 1,544,915
Al 2,774,300
o= (0Ix) XS 1,134,677 1,112,428 22,249
= 794,274
& 238,282
Al 102,121
301 LPENF 1,134,677 1,112,428 22,249
= 794,274
& 238,282
Al 102,121
01 AISIBE XS (2 RETME) 1,134,677 1,112,428 22,249
(OFUES={IESINI= 1,134,677
= 794,274
= 238,282
Al 102,121
= (Xtae S) X2 846,259 829,666 16,593
= 592,382
= 177,714
Al 76,163
301 LPBNZ 846,259 829,666 16,593
= 592,382
T 177,714
Al 76,163
01 Al B&X2HZ2(2REERTA) 846,259 829,666 16,593
OFM+=(xtae S) X3 846,259
= 592,382
T 177,714
Al 76,163
Zofeldzg 20 K= 11,256,972 11,036,247 220,725
= 7,879,880
T 1,013,128

SN
|




SA I OoNel
M mojoINe SA
el Zojel dAHety X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 2,363,964
301 EtE NS 11,256,972 11,036,247 220,725
= 7,879,880
= 1,013,128
Al 2,363,964
01 Al EE AT Z(2DEXR) 11,256,972 11,036,247 220,725
O&ijeds 80 A= 11,256,972
= 7,879,880
S 1,013,128
Al 2,363,964
SHl B0+ (EHIZE) 76,206 82,080 A5,874
= 22,862
Al 53,344
301 EtE2 NS 76,206 82,080 Nb,874
=S 22,862
Al 53,344
02 ANRI2HHSFS(HAAS, NLHE) 76,206 82,080 ~b5,874
O=HIHH=+& 76,206
[ 22,862
Al 53,344
ZOHZ 04 (AIXEH) 134,880 141,960 27,080
301 LEtE NS 134,880 141,960 27,080
03 MBI E &A= 2(RILTHE) 134,880 141,960 AT7,080
OZOHA SO (AIRFAI) 134,880
o ei=Hl K& 663,785 663,785 0
= 531,028
= 92,929
Al 39,828
308 AXIMSOIA 663,785 663,785 0
= 531,028
< 92,929
Al 39,828
11 SIS0t oA A A 663,785 663,785 0
OHoelel=Hl X 663,785
= 531,028
== 92,929
Al 39,828
NASZOHQ! MEH| 2 A XI& 8,000 8,000 0
= 4,000
Al 4,000
307 elztol & 8,000 8,000 0
= 4,000
Al 4,000




SA I OoNel
M ZORE SN
el Zojel dAHety X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 22X &I 8,000 8,000 0
OMASZOQ el X Al X2 8,000
= 4,000
Al 4,000
HOoHots It= K& 2,070,680 2,045,680 25,000
= 1,319,976
= 340,352
Al 410,352
LEWEAHIA XIS 1,881,360 1,881,360 0
= 1,316,952
< 282,204
Al 282,204
308 XXM SOl 1,881,360 1,881,360 0
= 1,316,952
== 282,204
Al 282,204
11 S [2S0 e 4 A AS A 1,881,360 1,881,360 0
OoggMaAtlA X 1,881,360
= 1,316,952
=S 282,204
Al 282,204
dAolgg N2 4,320 4,320 0
= 3,024
=S 648
Al 648
308 AtXIEHMSOIE 4,320 4,320 0
= 3,024
= 648
Al 648
1 SIS0t AS A 4,320 4,320 0
ouoege X 4,320
= 3,024
= 648
Al 648
B3SO ==H| X 5,000 5,000
301 LEetE2 N = 5,000 5,000
03 A2 E A0S (XL THH) 5,000 5,000
OelseHol2t +==H| XI& 5,000
ZOHIIEXIAME =2& 110,000 110,000 0
< 33,000
Al 77,000
307 elztol & 110,000 110,000 0
= 33,000




SN COIFOfOI D
M ZORE SN
el ZoHols IS I (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 77,000
03 PIZAHHEE 22X 110,000 110,000 0
OZOHIIIEXZHH 2 110,000
s 33,000
Al 77,000
ZIONQI MICH At 2telAtS 70,000 45,000 25,000
S 24,500
Al 45,500
307 glztol & 70,000 45,000 25,000
= 24,500
Al 45,500
1 AMEISXAIEEXS 70,000 45,000 25,000
OZ NI AITH Atedl2el At 70,000
S 24,500
Al 45,500
220 XA 5,069,264 3,234,821 1,834,443
= 3,548,484
= 760,390
Al 760,390
2T FLHESAHHIA K 4,145,005 2,557,232 1,587,773
= 2,901,503
= 621,751
Al 621,751
308 AXIMSOIA 4,145,005 2,557,232 1,587,773
= 2,901,503
& 621,751
Al 621,751
11 SIS0t 4 A AS A 4,145,005 2,557,232 1,587,773
Ogadel F=1asAblA N3 4,145,005
= 2,901,503
& 621,751
Al 621,751
FAYE LEHSY SUSBSAHHIA X 914,659 664,149 250,510
= 640,261
< 137,199
Al 137,199
308 XXM SOIA 914,659 664,149 250,510
= 640,261
=S 137,199
Al 137,199
11 SI[2S0He 4 EAS A 914,659 664,149 250,510
OFAd LMY U= HEIA X
& 914,659




SA I OoNel
M mojoINe SA
el 22 XA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 640,261
=S 137,199
Al 137,199
LM RF24E X 9,600 13,440 A3,840
= 6,720
= 1,440
Al 1,440
308 AtAIEHMSOIE 9,600 13,440 A3,840
= 6.720
= 1,440
Al 1,440
1 SIS0t EAS A 9,600 13,440 13,840
Ogadie FRAEAA 9,600
= 6.720
= 1,440
Al 1,440
JHIAIE 28 10,128,855 9,867,334 261,521
= 4,035,630
= 1,031,628
Al 5,061,597
HOHI=XAIE 2t 10,128,855 9,803,534 325,321
= 4,036,630
= 1,031,628
Al 5,061,597
ZOoHI=XIAIE X2 1,112,814 971,917 140,897
= 151,800
Al 961,014
307 @120l & 1,112,814 971,917 140,897
== 151,800
Al 961,014
10 Al2ISTIAIEEE2HIEX 942,814 906,917 35,897
OZ A ME0ISAZEH 2 115,633
< 6,800
Al 108,833
OZMAI+=HSSHE 23 200, 150
= 5,700
Al 194,450
OFMelF=LESA 2 332,516
== 60,000
Al 272,516
OAlZEelF=2tESHIH 24 97,965
= 28,300
Al 69,665
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SN COIFOfRI T
. HOAIE 2E
el ZOISIIAIE 2t (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OTolSSMEIE 2 (RHHMIHA) 196,550
11 AMEISXAEEXS 170,000 65,000 105,000
OZQAEASED|=XJAME K 100,000
= 30,000
Al 70,000
02023 ZONQIE AL M 4= A} 70,000
< 21,000
Al 49,000
ZOHRIHFAIE XI& 5,521,900 5,521,851 49
= 3,865,330
< 496,971
Al 1,159,599
307 212+01& 5,521,900 5,521,851 49
= 3,865,330
=S 496,971
Al 1,159,599
10 Al SXAEEE 22X 5,521,900 5,521,851 49
OZOHANFAIZ (L) 2 X2 (3MHA) 5,521,900
= 3,865,330
= 496,971
Al 1,159,599
ZOHRIHFAIE KA (REHITHE) 336,000 320,000 16,000
307 @I2t01 & 336,000 320,000 16,000
10 Al2ISTIAEEE2HIE X 336,000 320,000 16,000
OFOHAUHFAIZ O 2IAH]) 28 X 336,000
ZOHAXSTHE AL RIE 2,155,940 2,078,105 77,835
= 60,000
Al 2,095,940
307 elztol & 2,155,940 2,078,105 77,835
= 60,000
Al 2,005,940
10 AlISXAAEEHE 22X 2,155,940 2,078,105 77,835
O MAXATHEAIE 28 N (ES) 1,596,334
=S 60,000
Al 1,536,334
OZHAXATHEAE 22 XA(22) 569,606
ST AHlgx 018z X2 165,816 165,816 0
= 116,072
< 24,872
Al 24,872
307 212+01& 165,816 165,816 0
= 116,072
=S 24,872

N




SN COIFOfRI T
33 A 24
s ZOHISXIAIE 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 24,872
11 AMEISXAEEXS 165,816 165,816 0
OS0! adIgA 0188 A& 165,816
= 116,072
= 24,872
Al 24,872
ZOHASKIAIE SAHAF X2 459,4% 437,656 21,840
=S 145,493
Al 314,003
307 @12t0| & 459,4% 437,656 21,840
< 145,493
Al 314,003
10 Al2IS XA EEE 22X 459,4% 437,656 21,840
OHMHA=SXAIE SAHL =& 432,120
== 137,280
Al 294,840
OHOMIHFAIE SAHL Of2t=g 27,376
= 8,213
Al 19,163
ZOHIEXIAIE MSIEXIAL A2 R (REHITHR) 57,600 0 57,600
307 212+01& 57,600 57,600
10 AlRISTIAEEE 22X 57,600 57,600
OZOMAU=SXAE AZISXIA AR
30,0002 x160E «12& 57,600
OIS XIAIE A X2 30,000 30,000 0
= 9,000
Al 21,000
301 LEetE N = 30,000 30,000 0
= 9,000
Al 21,000
03 AR 2H A 5SS (XYMSA) 30,000 30,000 0
OFMIHFAIE Bl §H= 30,000
== 9,000
Al 21,000
Fofelsssi2 X 205,680 196,580 9,100
= 136,520
Al 69,160
306 £= 205,680 196,580 9,100
= 136,520
Al 69,160
01 9= 205,680 196,580 9,100
O MUSESXZ SAR=SH(2HA) 103,480
=S 34,320
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SA I OoNel
Bo: FOjeAE 2
Rl ZOHASXIAIE 2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 69,160
QFeISE=XZ 2 X (20HA) 102,200
== 102,200
el olsd 2 6,140 4,140 2,000
207 ARl 6,140 4,140 2,000
02 MR 6,140 4,140 2,000
OZUMABESFRFSA P 2e|AAE
A2+ 345,000 122 4,140
OYMAXS TS ?{BERIE 2S|ALE
REAICH S 2,000
SOHUHNFAIE FTLE 77,469 77,469 0
= 54,228
< 6,972
Al 16,269
307 lztol & 77,469 77,469 0
= 54,228
== 6,972
Al 16,269
10 Al2ISTIAIEEE 22X 77,469 77,469 0
OFMANFAIE FLE (BHR) 77,469
= 54,228
=S 6,972
Al 16,269
AHSIZHI(= I F0HRIDL) 51,077 65,072 A13,99%
=3l 51,077 65,072 A13,9%
Jl=23H] 51,077 65,072 A13,9%
201 fer23| 33,497 35,072 1,575
01 AtR2t2|HI 33,035 34,610 1,575
OJl2 ARE38I 225,000 %21 4,725
OJIEt +=EHI 135,000& *21& 2,835
OSAEA 7Y 90,0002 ~21 1,890
OddARE 7Y 225,000 x21H 4,725
OsAIgxZ 400,000 * 122 4,800
O0RHEY) 224 sS4l
740,000 %19 14,060
2 S524g4l 462 462 0
OJI238 0S8t AEE
38,500 122« 1CH 462
202 04l 12,600 25,200 212,600
01 =LHA LI 12,600 25,200 212,600
Ot 58 JI2ed*R =0l
50,0002 *21F 122 12,600
203 =4l 3,780 3,600 180
04 PAE2EERFAH 3,780 3,600 180
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